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English lesson 1

This week we are going to write a Greek
myth. First, we would like you to read at least
one for yourself. Here is one for you, but you

can find others on the internet

Outi®

ing Minos of Crete was furi

with rage. “Bring me Daedallaﬁ

, was the king’s inventor, and h
impossible maze to keep the k

horrible bull monster—safe. Now thi

dead, the king’s only daughter had fl

wanted someone to blame.
So Daedalus was dragged before K
feet in chains, and after the king had
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| on him, he was taken to the highest room in the highest tower
ace at Knossos, and locked in with his son, Icarus, who was ten.

ut Daedalus was very clever, and soon he had a plan of escape.

He made Icarus climb up into
the roof, where there was a big old
deserted bees’ nest. Icarus took all
the honeycombs and threw them
down to his father. Then he stole
the tailfeathers from all the
pigeons who were sleeping in the
rafters, and threw them down too.

dew off the
sucked out
combs, '




1p from the sea ev
stars.




English 2

Now you have read some myths, lets look at them in
more detail.

Who were the main




English lesson 5




Quadrilaterals add up to

Maths lesson 1 360 degrees.

LT: To calculate missing angles in quadrilaterals.

Mot to scale
60 \

b)
/(_.-fI >7
1 42° '

Not to scale a)

/ /} . & c) - d)
115 115 .
‘65' \
\
c)
B d) S

Example
100+95+60=255
360-255=105

Angles in a quadrilateral add up

Missing angle x equals
to 360°

105 degrees




Maths lesson 2
LT: To name parts of circles, including

radius, diameter and circumference and to

know the circumference is twice the radius.

Radius = 10cm
Diameter = 20cm
Circumference = 3,14 x 20 = 62.8cm
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Diameter = 22cm
Radius =

Circumference =

Diameter = 36cm
Radius =

Circumference =

Radius = 17ecm
Diameter =

Circumference =

Diameter = 48cm

Radius =

Circumference =

»
= & "

Hint: Use the formula nd (3.14 x diameter) to work out the circumference of a circle.




The mean is the total of the numbe
how many numbers there are.
eAdd all the numbers together
Maths lesson 3 eDivide by the number of numbers.
*6+3+100+3+13=125

LT: To calculate the mean. .i2s:5-25

eThe mean is 25.

The mean is not always a whole number.

L {1 6, 4, 2

8. 2,10 ,3
2. 10, 8, 9 9. 42,9
3. 5, 6, 10 10. 5 7,3
4, 10. 3, 2 11. 8,91
5 7 3 8 12.| 15,12,9

13.| 11, 11, 14
6. 8,66,7

14.| 10, 11, 12
[ ¢ 6; 10, 2

15. 10, 8, 9




Times Tables Test 4
Maths lesson 4 Gl idations

1. 2
° 4,
Times table challenge
Calculate
Record your time. 5.310 x 65 = 11.3109 +3 =
Can you beat 6.4% x 122 = 12. 5047 + 7 =
it next time? 7. 1401 x 8 = 13. 6566 + 8 =
Ask a member of 8.2 x 1325 = 14. 1789 + 4 =
your household to read question 1 - 4. i 2S00
Q1) 20 x 61 = 10. 5600 x 1.5 = 16. 3472 + 25 =
Q2) 91 x 10°=
Q3) 7 + 500 = Complete these calculations
Q4) What is the product of 8, 0 and 3? 17. 3120 SAEG00 182804 - KTOvE

19. 187 people buy 12 raffle tickets each. How many raffle tickets
were sold?

20. A square room is 225m?. What is the length of each side of
the room?




Ma

ths lesson 5

10

14x10=

1

61.2-677 =

12
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Arithmetic

13 | 367 x55=
aja:r
5|5
||
14 | 4571 +35=
3

5|4r5

15| 5%
16 | & +4=
17

376xb=

85% of 412 =




Topic lesson 1 - French

LT: To build sentences in French to create

Can you write your own
sentence?

Je suis - | am

new sentences.

English

a male nurse

a female nurse

a male mechanic
a female mechanic
a male teacher

a female teacher
a male hairdresser

a female hairdresser

French

un infirmier

une infirmiére

un mécanicien
une mécanicienne
un instituteur
une institutrice
un coiffeur

une coiffeuse

Copy the French words...

--------------------------------------------------------
........................................................
oooooooooooooooooooooooooooooooooooooooooooooooooooooooo
oooooooooooooooooooooooooooooooooooooooooooooooooooooooo
--------------------------------------------------------

oooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Example - Je suis une

institutrice.
What job does she do? Elle fait quel métier?
Shels ........................................ E“eest ......................................................
Shelsamedmmc ..................... E“eestmécamaeme ..................................
Shelsahmrdresser .................. Elleestcmﬁeuse .........................................




Topic lesson 2 - French

LT: To use familiar words to create questions
and sentences.

English French Copy the French words... the fire station la caserne des pompiers
the hospital BN bR
the school U€cole e What is it? Qu'est-ce que c'est?

the restaurant le restaurant

the garage le garage
It's Clest
the hairdressing salon le salon de coiffure
.................................................................................................................... Tt tbw B stitom Cest la caserne des pompiers
the police station le commissariat de police



Answers - maths

1) a)
b)
<)
d)

2) a)
b)
<)
d)

Lesson 1

Rhombus: 120° - Can be found by understanding that opposite angles are equal.
Isosceles Trapezium: 65° - Can be found by understanding that the base angles are equal.
Square: 90° - Can be found by understanding that all angles in a square are right angles.

Kite: 110° and 50° - 110° can be found by understanding that diagonally opposite angles are equal ina
kite. 50° can be found by: 360° - (90°+ 110°+110°).

68°
Both missing angles are 138°
106°
a)101°
b) 84" Diameter = 22cm
c) 63° Radius = 1 lcm
Les SO n 2 Circumference = 69.08cm
radius Radius = 15¢cm Diameter = 36cm
Diameter = 30cm Radius = 18cm
= Circumference = 94.2cm Circumference = 113.04cm
diameter
Radius = 17cm Diameter = 48¢cm
circumference Dismeter = 34cm Radius = 24cm
Circumference = 106.76cm Circumference = 105.72cm

Lesson 3

1.| 6,42 4
2.| 10,8,9 9
3.| 5,6, 10 7
4. | 10,3,2 5
5.1 7,3,8 6
6. | 8,67 7
7. | 6, 10,2 6
8. | 2 10,3 5
9.1 4,29 5
10.| 5,7,3 5
11.| 8,91 6
12.| 15,12,9 12
13.1 11, 1%; 14 12
34| 20, %1; 12 11
15.| 10,8, 9




Answers - maths

Lesson 4
Times Tables Test 4 Answers

Oral Questions

1.20 x 61 = 1220 2.91x10°=91000 3.7 +500=0.014
4. What is the product of 8, 0 and 3?7 0

Calculate

5.310 x 65 = 20 150 11. 3109 + 3 = 1036r1
6.47 x 127 = 2304 12. 5047 + 7 =721

7. 1401 x 8 = 11 208 13. 6566 + 8 = 820r6
8.2° x 1325 = 10 600 14. 1789 + 4 = 447r1
9. 0.98 x 500 = 490 15. 8244 + 5 = 1648r4
10. 5600 = 1.5 = 8400 16. 3472 + 25 = 138r22

Complete these calculations

17.3120 x 5 = 15 600 18. 2824 + 6 = 470r4

19. 187 people buy 12 raffle tickets each. How many raffle tickets
were sold? 2244

20. A square room is 225m?. What is the length of each side of
the room? 15m

Lesson 5

10

n

12

13

14

15

16

17

18




Additional resource links

» hittps://ttrockstars.com/ (login details were attached to the initial learning
packs sent home)

https://play.numbots.com/

https://www.bbc.co.uk/bitesize/dailylessons

» Purple Mash activities
1) Y6 SUM2 WK4 D1 - Quiz
2) Y6 SUM2 WK4 D2 - Quiz

3) Y6 SUM2 WK4 D3 - Quiz

|| %

Y6 SUM2 WK4D1-]1]1Y6SUM2WK4D2-]1]Y6 SUM2WK4D3 -
Quiz Quiz Quiz
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https://ttrockstars.com/
https://play.numbots.com/
https://www.bbc.co.uk/bitesize/dailylessons

